WP con 8 linee di dato (DB) e 8 di indirizzo (AB)
. —'\
PC (IP) » AR AB
____________ Tl v MEMORY
ISA i address content

OpCode instruction | 0000 0000
0000 0000 | LOAD A,[address] | ! 0000 0001
0000 0001 | LOAD A, costante i 0000 0010
0000 0010 | LOAD A,B ! v 0000 0011
0101 0010 | STORE B,A i ACC B c 0000 0100
0101 0100 | STORE [address],A | | 0000 0101
0110 0101 | ADD A, [address] | | 0000 0110
0110 0110 | ADD A,B i 0000 0111
0110 1110 | ADD A,costante i 0000 1000
0110 1111 | SUB A,[address] : 0000 1001
0111 0111 | SUB A,costante i ALU A,ags 0000 1010
01111000 | INCB ; Z[clolP[s] 0000 1011
01111001 | DECB ! 0000 1100
1000 1001 | IN A,[address] i _/ 0000 1101
1001 1010 | OUT [address],A | : 0000 1110
1100 1011 | JMP address L[ 0000 1111
1101 1100 | JZ address i 0001 0000
1101 1101 | JNZ address : 0001 0001
1101 1110 | JS address i RD/WR | | 00010010
1101 1111 | JNS address i 0/MEM | | 00010011
1110 0000 | LOAD A,[B] : > 0001 0100
1110 0001 | STORE [B],A i « WAIT 0001 0101
11111111 | HALT i 0001 0110
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VERSIONE HEXADECIMAL

AR

Y

PC (IP)
i ISA
i OpCode instruction
5 00 LOAD A, [address]
' 01 LOAD A, costante
i 02 LOAD A,B
i 52 STORE B,A
: 54 STORE [address],A
i 65 ADD A, [address]
i 66 ADD A,B
' 6E ADD A,costante
i 6F SUB A, [address]
i 77 SUB A,costante
! 78 INC B
i 79 DECB
i 89 IN A,[address]
! 9A OUT [address],A
i cD JMP address
| DC JZ address
i DD IJNZ address
i DE JS address
| DF JNS address
i EO LOAD A,[B]
i El STORE [B],A
i FF HALT
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